

ON NAGATA-HIGMAN THEOREM

WOO LEE

ABSTRACT. Nagata[3] and Higman[1] showed that nil-algebra of the nil-index n is nilpotent of finite index. In this paper we show that the bounded degree of the nilpotency is less than or equal to $2^n - 1$. Our proof needs only some elementary fact about Vandermonde determinant, which is much simpler than Nagata's or Higman's proof.

AMS Mathematics Subject Classification : 15A72, 16N40.

Key words and phrases : Nilpotent, nil-algebra.

1. Introduction.

Let K be a field of characteristic 0 and A be an K -algebra. If there exists $n \in \mathbb{N}$ such that $a^n = 0$ for all $a \in A$, then A is called a *nil-algebra* and the natural number n is called the *nil-index* of A . And A is *nilpotent of index N* or A has *nilpotency N* if $A^N = 0$, but $A^{N-1} \neq 0$.

Theorem 1.1. [1, 3] (Nagata-Higman Theorem) *Any nil-algebra of finite nil-index is nilpotent of finite index.*

We denote by $N(n)$ or simply N the nilpotency of a nil-algebra of nil-index n . This theorem was proved by Nagata [3] in 1952 and Higman [1] showed $N(n) \leq 2^n - 1$ and $\frac{n^2}{e^2} < N(n)$ for sufficiently large n . In 1975, Kuzmin [2] improved the lower bound of $N(n)$ to $\frac{n(n+1)}{2}$ and conjectured $N(n) = \frac{n(n+1)}{2}$. Meanwhile, using the fact that a Young diagram with $n^2 + 1$ boxes has either $n + 1$ boxes or more in the first row, or $n + 1$ boxes or more in the first column, Razmyslov [4] proved that $N(n) \leq n^2$.

Received January 23, 2009. June 24, 2009.

This paper was supported in part by a research grant from Gwangju University in 2009

© 2009 Korean SIGCAM and KSCAM .

Let $K\langle X \rangle = K\langle x_1, x_2, \dots \rangle$ be a free associative algebra in countably many variables. If $a_1, a_2, \dots, a_n \in K\langle X \rangle$, we denote by $S_n(a_1, a_2, \dots, a_n)$ or simply S_n the sum of the $n!$ products of a_1, a_2, \dots, a_n in every possible order, so called the *symmetric polynomial* of a_1, a_2, \dots, a_n , i.e.

$$S_n(a_1, a_2, \dots, a_n) = \sum_{\sigma \in \text{Sym}(n)} a_{\sigma(1)} a_{\sigma(2)} \cdots a_{\sigma(n)},$$

where $\text{Sym}(n)$ is the symmetric group on n letters.

An ideal I of $K\langle X \rangle$ is called a *T-ideal* if $\phi(I) \subseteq I$ for every algebra endomorphism ϕ of $K\langle X \rangle$. If we let I_n be the *T-ideal* generated by x^n for all $x \in X$. then the Nagata-Higman Theorem can be rephrased as following; there exists N such that $x_1 x_2 \cdots x_N \in I_n$ for all $x_1, x_2, \dots, x_N \in X$ if $x_i^n \in I_n, 1 \leq i \leq N$.

Lemma 1.2. *The ideal I_n is generated by S_n .*

2. Vandermonde determinant.

In this section, we introduce Vandermonde determinant and prove the basic properties of Vandermonde determinant.

Definition 2.1. Given elements b_1, \dots, b_t of a commutative ring K , let $|b_1, \dots, b_t|$

denote the determinant of $\sum_{i,j=1}^t b_i^{j-1} e_{ij} \in M_t(K)$, where e_{ij} is the $t \times t$ matrix whose (i, j) -entry is 1, and all other entries are 0.

For example,

$$|b_1, b_2| = \begin{vmatrix} 1 & b_1 \\ 1 & b_2 \end{vmatrix} = b_2 - b_1.$$

Lemma 2.2. (Vandermonde determinant)

$$|b_1, \dots, b_t| = \prod_{1 \leq i < j \leq t} (b_j - b_i)$$

Proof. $|b_1, \dots, b_t|$ is a polynomial of degree $0+1+2+\dots+(t-1) = \frac{t(t-1)}{2}$ in b_1, \dots, b_t . If we take $b_i = b_j$, then we have two identical rows and its determinant is 0. Therefore $b_j - b_i$ is a factor of $|b_1, \dots, b_t|$ for all $j > i$, which implies

$\prod_{1 \leq i < j \leq t} (b_j - b_i)$ divides $|b_1, \dots, b_t|$. But it is clear that

$$\deg \left(\prod_{1 \leq i < j \leq t} (b_j - b_i) \right) = \binom{t}{2} = \frac{t(t-1)}{2}.$$

So $|b_1, \dots, b_t| = m \prod_{1 \leq i < j \leq t} (b_j - b_i)$ for some $m \in \mathbb{Z}$. Comparing the coefficient of any one term, say $1b_2b_3^2 \cdots b_t^{t-1}$, we can conclude $m = 1$. \square

We are now ready to prove an easy consequence of Vandermonde determinant.

Lemma 2.3. (Vandermonde argument) *Suppose that we have b_1, \dots, b_{l+1} in $Z(A)$ and a_1, \dots, a_{l+1} in A such that for each i , $1 \leq i \leq l + 1$, we have $\sum_{j=1}^{l+1} b_i^{j-1} a_j = 0$. Then $|b_1, \dots, b_{l+1}| a_j = 0$ for all j . Particularly, if $\text{Ann}_A |b_1, \dots, b_{l+1}| = 0$, then each $a_j = 0$ for all j .*

Proof. Let $V = (a_1, \dots, a_{l+1})^T$ and

$$B = \begin{pmatrix} 1 & b_1 & \cdots & b_1^l \\ 1 & b_2 & \cdots & b_2^l \\ & & \ddots & \\ 1 & b_{l+1} & \cdots & b_{l+1}^l \end{pmatrix}.$$

Then $BV = 0$ in matrix form. But $B \in M_{l+1}(Z(A))$, so if we multiply the adjoint matrix of B to the left, we have $\det(B)V = |b_1, \dots, b_{l+1}| V = 0$. \square

3. Nagata-Higman Theorem.

We will begin with some basic facts about polynomial identity rings.

Definition 3.1. A ring R is a polynomial identity ring (or, R satisfies a polynomial identity) if there exists a nonzero polynomial $f(x_1, \dots, x_m) \in K\langle X \rangle$ such that $f(r_1, \dots, r_m) = 0$ for all $r_1, \dots, r_m \in R$.

By this definition, a nil-algebra A is a ring with a polynomial identity $f(x) = x^n$ for all $x \in A$.

Theorem 3.2. *If A is a K -algebra without 1, satisfying the identity x^n , then $x_1 \cdots x_N$ is an identity of A , where $N = 2^n - 1$.*

Proof. Consider the expansion of $(x_1 + kx_2)^n$ for k various values, say $\alpha, \beta, \dots, \gamma$. Define $p_i^j(f) = \sum$ monomials of degree j for variable x_i in f , and

$g(x_1, x_2) = \sum_{i=0}^{n-1} x_1^i x_2 x_1^{n-i-1}$. Since $(x_1 + kx_2)^n = \sum_{j=0}^n k^j p_2^j ((x_1 + x_2)^n)$, we have the following equation

$$\begin{pmatrix} 1 & \alpha & \cdots & \alpha^n \\ 1 & \beta & \cdots & \beta^n \\ & & \vdots & \\ 1 & \gamma & \cdots & \gamma^n \end{pmatrix} \begin{pmatrix} p_2^0((x_1 + x_2)^n) = x_1^n \\ p_2^1((x_1 + x_2)^n) = g(x_1, x_2) \\ \vdots \\ p_2^n((x_1 + x_2)^n) = x_2^n \end{pmatrix} = 0.$$

By the Lemma 2.3, $p_2^j((x_1 + x_2)^n)$ is an identity for $0 \leq j \leq n$ if $\alpha, \beta, \dots, \gamma$ are all distinct to each others. Then we have the identity

$$\begin{aligned} \sum_{j=0}^{n-1} g(x_1, x_3 x_2^j) x_2^{n-j-1} &= \sum_{i,j=0}^{n-1} x_1^i x_3 x_2^j x_1^{n-i-1} x_2^{n-j-1} \\ &= n x_1^{n-1} x_3 x_2^{n-1} + \sum_{i=0}^{n-2} x_1^i x_3 g(x_2, x_1^{n-i-1}) \end{aligned}$$

Hence $x_1^{n-1} x_3 x_2^{n-1}$ is an identity. The conclusion follows by induction on n . \square

References

1. G. Higman. *On a conjecture of Nagata*, Proc. Cambridge Philos. Soc. 52(1956), 1-4
2. E. N. Kuzmin. *On the Nagata-Higman theorem*, in Mathematical Structures-Computational Mathematics-Mathematical Modeling, Proceedings dedicated to the sixtieth birthday of academician L. Iliev, Sofia, 1975. (Russian)
3. M. Nagata. *On the nilpotency of nil-algebras*, J. Math. Soc. Japan 4(1953), 296-301.
4. Y. P. Razmyslov. *Trace identities of full matrix algebras over a field of characteristic zero*, Izv. Akad. Nauk SSSR **38** (1974), 723-756; English transl., Math. USSR-Izv. **8** (1974), 727-760.

Woo Lee received his B.A. from Sogang Univ., his M.A. from Univ. of Maine and PH.D. at Pennsylvania State Univ. under the supervision of Edward Formanek. Since 1998, he has been at Gwangju University. His research interests include noncommutative rings, braid groups and representations.

Department of Telecommunications, Gwangju University, Gwangju 503-703, S. Korea.
e-mail : woolee@gwangju.ac.kr